Pisano zbrajanje i oduzimanje brojeva do 10000- PERP
1. Zbroji.
     2557                      3467                     4705                     6380                    4759
  + 1783                   + 4480                  +4248                  + 2346                  +2396
2.  Oduzmi.
      3449                      2648                    6785                    7867                      9573
    - 1225                   - 1258                  - 3759                  - 4579                    -3875
3. Ivo ima 1438 svinja, a krava za 1219 manje nego svinja. Koliko Ivo ima krava? 
RAČUN:

ODGOVOR:__________________________________________
